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ECONOMICS

( Honours Core )
I

Paper: ECO-HC-4026

I Intermediate Macroeconomics—)

FuU Marks: 80

Time: 3 hours

The figures in the margin indicate full marks
for the questions .

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10

(a) What is fixed investment?

(b) What is government debt?
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(c) What is efTective demand?

ll^ 'B1%11% ?

(d) What is consumption function?

(e) Who provided the Rational Expectation

hypothesis?

(fi What is neutral technical progress?

n

(g) "Central beink of a country formulates

monetary policy." Is it true or false?

2Pi^

^ l" «iRIT "51^ C5T ?

(h) Who propounded endogenous growth
model?

R<pn'^ t^ici •9RR®i ?
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(i) Name one new-cleissical economist.

(j) Mention one li^tation of Solow model.

.  ̂ 511% (£|igi %nw5i w I

2. Answer the following questions : 2x5=10

(a) What is mesant by liquidity trap?

Wf ^ ?

03) Mention two limitations of classical
theory.

\s^ ̂  'Ihiwsi ^ I

(c) Define golden rule of Solow model.

15 V ^ I

(d) What is Ricardian equivalence?

(e) Mention two elements of , endogenous
growth. .
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3. Answer any four from the following

questions : 5x4=20

*RT ft c.'9ic*ii Rill:

' (a) Explain the basic features of new-
classical school of macroeconomic

thought.

TRlMt

(b) Elxplain the objectives of monetary
policy.

(c) Explain the budget constraints of the

government.

^5^ I

(d) Explain various motives of demand for

money as indicated by Keynes.

wVl.Ct> W '51%I
■^1

(e) Explain the dissimilarities between
Harrod and Domar growth ihodels.
C^^5 Tsj,^
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(f) Discuss various determinants of

business fixed investment.

I

4. Answer the following questions : 10x4=40

(a) Critically discuss the Solow model of

economic growth.

Or/^(^

Discuss the instability of growth process

of Harrod-Dbinar models.

c^'vs-vb'^ ^51% af^ ̂iwiHi

^^1

(b) Critically discuss the life-cycle
hypotiieris of :consumption function.

24A/703 ( Turn Over )



( 6 )

Or/^PI^

Critically discuss Fisher's theory of
optimal intertemporal choice.

(c) What is meant by random walk of
consumption expenditure? Discuss
various factors determining con

sumption function. 3+7=10

^ ? coi^r wf
^5rRI®TTHI/^ I

Or/^spi^

Discuss the main features of Keynesian

economics. 10

^iiOTio^l <p^i I

(d) What are the main targets of monetary
policy? Discuss the rule versus

discretion of monetary poUcy of a

,  country. 4+6=10

^  # 1%? <i|'^ CW
tef ^IWIbHI

^1

24A/703 (Continued)



( 7 )

Or/ WW

Discuss the relationship between
technolo^cal progress and elements of
endogenous growth. 10

★ ★ ★
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